2 T 8 B R — 4k — H 4MW

ME R ERIL

P42k s SAE A PR A T
—O0—=f=h H



RS %510

Y

WA
‘\(All { >Li \\"ll‘||il|“|1l!ll|llrll|||r| R RN ‘ r PIER QFE GO REE GO BEE BV P f0E 3

’da

2.

[

AN A

)\*‘\\'.l].lll||lluoln.ll|||-|||||u”'-ununnulu-nllllll """""""" GO WG GECET G CIELE 3
b l.l ‘) L3 ‘ VNI Wi y

R L I L e, v el 3
INETNETENG NSt

llt f’{\]""”] l.l\‘||| ..... (NN TN L N R N R R ] teaacrire 1”({’-"‘!'"’.:«“!"' "‘;“T‘ 3

= \ ) ‘

SooalBRATIO

0. VA DY,

A
’

pe ]

2 4l Jk a4 g

=)



PAUDORRA A GMW 0 R |

SR

L1 DRSS SBRCTAUTT, T A M LT A

1.2 RIS T IRACEAG B BRI DN

1.3 BN, NSPTST v J T 26 Ak o) ohs v

WA 031611426
R [ P IR A O AT R A T

{fi)1) s00v 454
2. 1 NSP78T £ (R4 4526 i
L 25U I8 01 ek LAl
SEULIIE R 120 M LI ] e 0] 3 150M Q
il HL i %o 41 150 MQ S s 150M Q
3. AEE ARG A
3.1 G A2 A e O 0
3.2 IR . BT IR SRR 7R 4% 7 1R
3.3 ACUTHIE LIR: 5A.
4. R4
4.1 K5JIEARY KA
4.1.1 84" CT
i | A | BRI | B | BEESRD | B BTl | rhifs
1 25V 25.02 [ S o 25.02 / g
0 SIS T
2 50V 50.03 AT Tsome Ko 50,04 / i
3 75V 75.08 (W st =) 75.09 / ok
4 100V 100.09 100,09 10011 2o g
| P100.09° / (ot
4.1.2 RYIAH i
| AR | REBRL | B | BERRDL | B2 | RESRC | WE |
1 45HZ 45HZ / 45HZ / 45HZ / 2o
2 50HZ 50HZ / 50HZ / 50HZ / G
3 55HZ 55HZ / 55HZ / 55HZ / R
4 60HZ 60HZ / 60HZ / 60HZ / i




2,2 ("

P a0 e 34 Jis GMW 5,

AL

A2 AN
RN R AL A ]
A A D 18117, 522ms
e ANl wmny K117, 51 Ims
cae 8117 513ms
400 By
I #4440 DR I P T
AL RINIY, 525ms
e Al B, BLIY 512ms
CA A 11 51 1ms
423 AR
LI 44 4% W AL I )
AR 70. 08V 512ms
hean 10V 70. 08V 513ms
CA Al 70. 08Y 514ms
.24 RLJGH i B
O WA At i AT
AR [20. 11V 512ms
e e 120V 120. 12V 513ms
CCA I 120. 11V 512ms

R

S 2

> AR A MO TTEZR I 1009 - SE ) 1157

2) AFIRAL AR LR T BN AR R A
WU i

M L1 T ] '%LT'/VAH)\

WL,

6. WA D

b/ VI BT T L A A 1}

LRI 22 G O A

n ELHEN S 8



